&

—~
=voT=cH'

P ERFORMANTCE

Installation Instructions
KTM 1290 DUKE
EXHAUST HANGER



J

Installation Instructions —4

Product Reference - 13796

Kit Contents

x Exhaust Hanger x 1.5mm Spacers
® 1 x Exhaust Hang ® 1 x 1.5mm Sp
1 x 3mm Spacer (P 1 x M8 x B0 Socket Button Heads
© 1 x M8 Custom Washer © 2 x M8 x 16 Socket Button Heads
® 1 x M8 Flange Nut ) 2 x M8 x 25 Socket Button Heads

() 4 x M8 Flat Washers



Installation Instructions




J
instalation Instructions N ==




®
Installation Instructions —;!










Installation Instructions




®

[ —Z
=voT=cH

P ERFORMANUZCE

www.evotech-performance.com



